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CHEMISTRY
CHE-006 : ORGANIC REACTION MECHANISM

Time : 2 hours Maximmum Marks : 50

Note: (i) Answer any five questions.

(i) All questions carry equal marks.

wu

1. (a) Write the mechanism of the hydrolysis of
ethyl acetate in presence of Base. - Discuss
the role of isotopic labelling in establishing
its mechanism.

(b) Taking suitable examples, differentiate 5
between stereospecific and stereoselective
reactions.

2. (a) Write the mechanism of the following using 5
suitable example for each case (any two).

(i)  Wittig reaction
(i) Hydroboration
(iii) Knoevenagel reaction

(b) Distinguish between Addition and 5
Condensation polymerisation with the help
of suitable examples.
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3. (8
(b)
4 (a)
(b)
5 (a)
(b)
6. (a)
(b)
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Write the mechanism of any two of the
following reactions :

(i) Backmann rearrangement
(i)  Benzil-Benzilic acid rearrangement
(i) Wagner-Mearwein rearrangement

Classify dyes on the basis of their application
and give one example of each class.

Draw resonating structures of the
intermediates formed by ortho, meta and para
attack of the electrophile on nitrobenzene.
Explain why is meta attack favourable.

Identify the alkene which on reaction with
ozone followed by further reaction with
Zn/H,0, gives a mixture of butanone and
ethanol. Write the reactions and explain.

How will you convert (any two) :

(i)  Acetoacetic ester into 2-hexanone
(i) Malonic ester into adipic acid

(iif) 1-Butanol into butanal

What are Benzynes ? With its reference
explain “cine substitution’.

What are different methods of generation
of free radicals ? Give one example for each
method.

Predict the product formed in the addition
reactions of HBr with (i) propene and
(ii) 2-propenenitrile. Write the mechanism
of both the reactions.



7. {(a)

(b)

Why do electrophilic substitutions generally
take place at 2 and 5 positions in pyrrole ?
Explain.

Cl group is electron withdrawing but it is
ortio-para directing. Justify.

8.  Write short notes on any four of the following :

(a)
(b)
(c)
(d)
(e)
(f)
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Paternc Béchi reaction

Pinacol Pinacolon‘e rearrangement
Norrish type II reaction

Saytzeff rule

Birch reduction

Nitrenes
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1. (a) ek &1 egfeafa # ofae (e & wio-stmed 5
| fraifafy fafae | swe feafafy & fraro
¥ TR siohd w1 fTe Sl Ieord Hiter |

by S9aF sereen ®§ fafam-fafwys s 5
fafem—atuneres erfafmanell < af= sfat e

2. (a) e o foTT TR SO IR0 K SUART FAH, 5
fofetaa 1 frafaty e (g ot )

() fafen afufean
() ERGERAT
(iii) RS HEA
(b) ITgE SRl @ aAeE iR WA wgeki 5
et Hifea
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3. (a) Tr=fcAfEa sifvfrsti =t fRdigr =t fpanfafy 5
T
(i) FHE S
(i) SfsE-afsifas o Afd=ams
(iif) ATT-TRERA qAfd=a
(b) ISTRI &1 Ik VAR &F UR W FitHer 5
SRITSTT S T&F 1 1 U ISR S |

4. (a) T F FY Frd WWH W AFIT 5
Y o AeEfdstl w1 eTART O aEy |
THSEY = HeT TFAT FAEA B 2
(b) UM RGeS SASA W AW Zn/H,O 5
Y AfufFm F7 W =peAR ot udbe =@ 5
sifaferand fafau siv Tz

5. (a) frefafed =54 suaf@ w52 (@FERET) 5
(i) UHERE E e Fl 2-EeEE |
(i) HeNTE TR T el ave o
(iii) 1-=SATA A FAA H
(b) S=TEA T ? 3% Hed Ty g oo 5
i ST FHIfST |

6. (a) T TR H 3@ & fou i fafmi 7 5
T fafer & forg uw-uw serewo G
(b) () 9rdT T (i) WA W HBr % §FcH 5
Y T IR 1 GaTTHH e | 2 stfsrfiransty
=1 frafafy Sifsa)
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7. (a) T & 9w soegAeE gheaa 2 3Rs 5
T 1 el § ? Ty |

(b) Cl3oiaE Wign arell WE § A 98 sefa 5
v 1 qfie wifew

8. frafafas # 4 fedl ok W dfara foooft wtfe: 10
a) fl'l'é"ﬁ—ﬂﬂﬁ srfufeaan

b) frfa-framerian gafd=rg

¢) @-wHr-11 SAfufsman

d) &% = Ay

e) IH ATEE

f) TR

—
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